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Please round out non-finite numbers to 3 decimal places.

I1.A. Consider an economy with sticky prices under float, where the interest rate parity holds
instantaneously, and PPP holds in the long run (one year time). The demand for real money
balances is given by mP = % , where ¥y = 150 refers to output (constant). The foreign price

level is constant and equal to P* = 2.
a) Assume initially that M = 150 and that i = i* = 10%. Find:
(al) Real Money Demand
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(a3) Nominal Exchange Rate
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(a4) Represent graphically the equilibrium in the money market and in the foreign exchange
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b) Assume that there’s a temporary positive output shock, so that: ¥' = 300. Considering that
the central bank keeps the money supply unchanged, find:

(b1) The domestic interest rate
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(b2) Assume that the nominal exchange rate is still the same as in (a3). If you needed money
in the foreign country in one year, would you prefer to transfer the money today and invest in
the foreign country or to invest in the domestic country today and transfer the money in 12
months?
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(b3) If all agents in the economy did the same as you, how would the nominal exchange rate
adjust?
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(b4) Using the nominal exchange rate found in (b3), is the currency at premium or at discount?
(Tip: you don’t need to compute the forward, just compare the spot rate with the expected rate)
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(bS) Explain the adjustment in the money market and in the foreign exchange market.
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¢) Assume now that with the same temporary output expansion (¥’ = 300), the central bank
wants instead to keep the exchange rate fixed.

(c1) Compute the implied money supply.
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(c2) Explain the adjustment in the money market and in the foreign excﬁange market.
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IL.B. Consider an open economy with sticky prices under a flexible exchange rate regime. In

D:

this economy, money demand is given by m 1% and full employment output is Yy = 100.

The interest rate parity holds instantaneously, the foreign interest rate is equal to " = 10%,
and P* = 1. The goods market equilibrium is described by the following expression: ¥ =

4 (A+TB), where A= 25,TB=5(0—-1)and 8 = %. Also, M =50 and E¢ = % Initially,

no policy change is expected.

e) Assuming that P = 1, describe the initial equilibrium:
(el) Derive the expression for the AA & DD Curves.

(e2) Find the equilibrium level of the exchange rate and output.
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(Tip:ax?*+bx+c=0 & xz—bi%)

(e3) Compute the value for the trade balance.
(e4) Is there internal and/or external balance in this economy? Justify.

f) Describe the adjustment in the long-run, assuming no policy intervention:
(f1) Find the long-run value for the price level.

(f2) Find the long-run expression for AA & DD.

(f3) Compute the value for the trade balance.

(f4) Explain the adjustment with the help of the AA-DD diagram.

o) Departing from (d), assume instead that the government tasks the central bank with
achieving full-employment in the short-run with a permanent monetary expansion.

(g1) Compute the value for the real money demand when Y = Y and i = i".

(g2) Using the money market equilibrium, find the implied money supply.

(g3) Using the DD curve found in (el), find the new expected exchange rate.

(g4) Do prices need to adjust in the long-run?

(g5) Find the expression for the AA curve.

(g6) Was this policy successful in achieving internal balance? What about external balance?
(g7) Explain the adjustment with the help of the AA-DD diagram.

h) Departing, again, from (d), assume that the government wants to fix the nominal exchange
rateat e = 0,5.

(h1) Using the DD curve found in (el), find the corresponding output level, and then the
implied money supply. Is this policy enough to ensure internal balance?

(h2) Suppose that the government decides to launch an expansionary fiscal policy to achieve
full employment. Find the value of autonomous spending (A) that will ensure this goal.

(h3) Explain the adjustment in the AA-DD diagram. You don’t have to derive the expression
for the curves, but you will have to include three points in your graph, with the corresponding
values for output and the nominal exchange rate: (A) initial equilibrium; (B) equilibrium after
the exchange rate is fixed; (C) equilibrium after the change in A.



nuwsmnau'mnnmmmmmmmmmmmmmmmmmmmmmmm

YF ] (o0 ML:% i‘ktolf P‘:" Y: k{(ﬁ-{-Tg) ﬁ: QS TB = g(gg ~1) fe':(/a N:SO

a) M. f- U(FT8) =Y (ds ¢ (%o )) - O+ do

‘T & V- S, ‘fa?(oﬁ‘kz 1)

QQ) Eq 'Q'er{um- kA - bl & QSO . Yo - D L e & QOQQ'I‘SBOe - 4P =0
= e < ~$3 + \J_—3° WXQOX QSO vo*“'"

QU 0
T2 S0 + doxo%d ~ 39,32

) B s (B A)-s(8dg) - g

o) V= 928 < Yo = No Thewl Balang

B =258 40 = Mo Bleend RalnGe
We e neiffn  infenal nor exfienel  balanG .

}) (D'DR Run QB]US“MML
V.. b L doo
5) Tt (R )Yt oo Ny % oo 100

€=z Ee;—j (= {4‘:0”1

M - so -4
e f T =%
(4]

AT 1 PR R~ TR
M. i e L <.>Y-4om~4mo(04+% )

FLQ o %
= - 5'00 _ 30
R) = S(&-A) ( 1) <0



T paic decease hiFk  bolh  Gorwes, ad we Rench
He & ¢, wh Yl od et WH fup
f&'&s( g R - e Ulnlay inCRpoSes | o fm\w\j
he ety fo dtf'&q'q/é. (s will incease o¥pocks
) Rorease nork, Ufbna fi(? Apiaing  oubput

L~

83 ‘(‘w
j) QJ\M g(J/\k Wl& fo QCLUCVQ T: y'e fa I'EQ SAIML~ Rva

S() MN"' lﬁ- — -LOO = 100
0*  {oxoq

) Yoy e shdy: Ho o™ P ooy 4 <0
« e
E;g:) YF:80+QOEQ'<=> {o = 871' l_GE“@) QDEC: 0 :35:1

(Given M o (onbrd bank 5 iRyl i Wennal  balane

f%) e s, uw\ pices b oF need k,ad‘us}- " B QR

(n
- G3i:{w= = . 1

¢ L ol - 1o (0,44 % 1)
2> [- {0600 _ gy

%
¥) B= S (£ -1 < 5 (&q) =0

( P L)\ B:[ ) We hawe LoH\ i!\b\nq\ QAJ Q\\‘QRA&\
e @ =Y = Dhasal Baloe pp

-0 — Edeard  Baling

Tkz (B 's X PAnSion 0f w’l MOI\E:) S\)Q% *

i th M wor, ad oe reach o

new  ¢f i e R wlh all ey

L reb ) o dfeecild wRto.

sl -(/{ M ourve &)23 aoF dﬂ\gq

The M'\Jay ekpanlion ¥ B sk iroudr '

;O " l%a"t, Huys T Smand fom foreign &um,\b( fouiy _
‘ 6 e b WK 4 dyRedahd W, -

>f e Inade b"*ﬂf\ce (mpRoves, and  wuhpt

in CReases

T T OO0 OOO0O000000cgmMmMmmuoonMmmmMmMTDVMTITITITIT T T T o




Yot ) fox o1
Poics  ane .s(i,% w e SR . H: mox P doxf =30
- Taleand blong & o anie\/ec), as < Te.

k&) Ye <\ (R'+ TB) & 10 = ‘((ﬁ' + € (1/‘7!—1-1» & 400 = Y - 10
oYkt < k= -{'i”. =235$
o B e e,xgkq,\ag kql’el MQ 8 wi“ I\OLW.
b oxpud Ko ~oncy ey . T shigh, AR
W we o ab’:, ue MW whwe B Ji
point 8. Thas, by T yfononas Shending
e gk shigh N, b @ Tﬂogaf«
b B e peg. Thic vows us B oq
pob C wif biA N ag M hw&; shighy.
Inheeed  bilne i adhewd n By fing &g
Pm'f\l:

5
: i\{‘/ W|u| Q:O{S : Yt‘ 80-‘- AOXO[S :50
NP ftxa) p%ﬂt‘me L T=EB e - “
LD R B,

i

|




